2025 I TARAYVEZVFVI<RTIVEF>
A 2025/6/1
[3BbmAEBEFY 7L R] [35mMAULBFLTILR]
Rank K % T B A v MEAEH Rank| K % B A MEEH
1|18 B B AN|A b E 363 1
2| #1 M2 A|TOY'S Tennis Lab 254 1
31+ f0 B WA brvE 177 1

(40U LBF> > 7L R] (40U EBFXTILX]

Rank K % T B KA v MEAEH Rank| K % B A v MEEH

<sE>|H B #lA—L7UvF 36 1 1|58 # & A|TOY'S Tennis Lab 363 1

218 B H A|LWET=Rv77 254 1
3|18 B B BWLiET=Rs77 177 1
Ak B & E|REWT=2HR 15 1
4B O # Z|REET =2 15 1

(45U LEBF> v 7L R] (45U EBFXTILX]

Rank K % T B A v MEAEH Rank| K % B KA v MEAEH
188 H  \lfzvassdrar=ass7 800 4 11F B #f BlA brvE 667 2
2| JIl B {E|TOY'S Tennis Lab 328 3 22 W B BlA—LZvrF 290 2
3|k £ R AL|7vYIr=2s57 100 1 3[3F )1l B 1=[tov's Tennis Lab 289 1
4fE B ff Z|reorovrexssy 15 1 AN R OE B|TEETC 202 1
AE 2 2 8|l7vvIr=zs57 15 1
6l{E4 RN BEZ|79975=22457 9 1

<s#E>12 L B BlA—1L5o K 1597 3

[50mULBEF> > R] (50mULBFX7ILR]

Rank | K 4% B A v MERAEH Rank| K % B RA v MEAEH
18 B 8 KEF=xs57 1786 5 1|E JI| % #5|T0Y'S Tennis Lab 1669 5
2|E JII # T|TOY'S Tennis Lab 1649 4 2|55 M fZ|T0Y'S Tennis Lab 843 3
3 A 1 sE[RMTA 753 3 2|8 I B K|LWET=Z2277 801 3
BRI BRpura»7722257 328 2 Al X ¥ B|LiET =R 57 801 3
5|1F M mlEsmmEtsT-xips 318 4 5|& B T R|AMERT=ZHE 249 2
6|%F M f&[tov's Tennis Lab 247 1 6|F H m|#EsiEEGT=2Hs 249 2
TR HRmET=Rs 77 145 2 6|1k B B Elrror-vr=zs57 202 1
7T B #® 2| TEAMO/40 145 2 8lay &K BElrrvr-vroassy 202 1
9| W8 | T E AMO/40 134 1 I #F 1§ sE[RMTA 160 2
10| B K B|EKRET=XHs 116 2 10| B K B|EREIT =X 160 2
11| 4 K F#| T -one 107 1 10|EA) BR|purvs57=2257 114 1
12/ R 2 —|79975=2457 100 1 12|84 M IE &|=vsraqvnz=zs57 79 1
13|1F ¥ IE f|EHT=X077 57 4 131’% /A % 18| T E AMO0/40 18 1
14|44 BE A ;B|TOY'S Tennis Lab 9 1 <z#£>|+ f  fTOY'S Tennis Lab 36 1
15|88 & ZE W|574>F77=2957 9 1

<BE>|Kk  ZF  $|TOY'S Tennis Lab 483 1

<5E>|+ B AToY'S Tennis Lab 36 1




(55U EBFY > 7ILR] [55mMULEBFL7ILR]

Rank| K % T B A v b EEHK Rank| K % Fr B RA v MEAEHK
11+ B # F|zrrreimr=ass 821 4 1|K 2 = @HAbrvE 770 3
2|5 e B E|meraorrmzsoy 550 3 2t B % & T E AMO0/40 559 3
3|KEE EAFETC 413 1 3l & HE|7rav—~—FKTC 538 4
4lm = Z B\AEHT=2HR 290 3 Al B L H[5rvrerryy 383 3
5 B %k 3| T E AMO0/40 281 1 Sle B B’ | —onT 254 1
6|10 @ E A|T E AMO0/40 151 2 5| B & FE|Y—I 0T 254 1
T\ B R B |zvrreavnr=2so7 127 1 5|17 £ I|FSA 254 1
8| A& E|evaradvrrzassy 57 2 8|1# A & —|La- Fa—7 163 1

9IM E ZF AABTT=ZHe 33 2
9[F H #h F|rvrratvir=zsss 33 2
11|f0 B & A|T E AMO0/40 18 1
11| & B|XMTA 15 1
12|Em Mk F)2h|evrrairnrzass 6 1

[60mULEBEF> > 7 IILR] [60mULBFHTILR]

Rank| K % T B KA v MEAEH Rank| K % B KA v MEAEH
g K — Z|EMTA 702 2 1|85 K — Z|&RMTA 1442 4
2178 Ik B Elzvarncvarzzsss 666 3 2[@m e #—|7vvvr=zxs57 630 2
3|1#1 L B T|AETT =2 379 2 3|5 H B|7v9r7=2557 630 2
41 F IF E|rror-vrzzssy 303 ) 4|17t |/ B Elrvrrncrarzzssy 438 3
5|88 K B R|wuv>rr=2s37 196 1 51 i B fT|AE®m T =X Bs 354 2
6|8 B & 2|7vvrTr=rss7 57 5 636 A  Elzrearrrmzssy 18 1
6|F W B E|vvyvrm=zsr7 57 5
8l E f—|zvvvr=zs57 18 1
9t H & Zlevararvar=assy 15 1

[65mULBEF> 7 ILR] (65U LEBFLTILR]

Rank| K % B A v MEAEH Rank| K % B RA v M EAEH
e 4 R 8§ —|-m774-17=2557 6268 5 e B #mYy—oLT 192 2
20/ B F Flz7arkr7ro20357 129 6 1 o Z[¥—2o1T 192 2
3| L B Bi|zrarrrrozss7 18 1 3| Bk B R|IBRET=XHBR 18 1

<sE>|{Ef A K B—|-8574-r7=2257 48 1

(7T0mAU LB F >IN R] [T0mULEBEFXTILX]

Rank| K 4 Fr B A v MEREH Rank| K % Fr B A v b EREHK
1\ 18 B &|771>t77=2257 3061 6 1|8 2 % HMARS-T 36 1
2|3 2 X #MARS-T 1140 4 208 B —|mmsmEer-oxiks 18 1
3|1 4 R|EHT=z2s77 1032 5 205 B =Elszavrrrzzssy 18 1




(TSMALFT >~ 7L 2] [75HULEBFL 7 L]

Rank| K % B FA Y b AEHK Rank| K # B FA v b
1F Il Eevrsaqorr=zss7 367 4 kh ke B&(ammr—pa 354
2l b R|EEBITY—v 18 1

(80BN EST > > 7 2] [B0BLL LB TS 7L 2]

Rank| % W OB |FA - EaH  [Renk| R 4 AL EEEE

1| T 8B = @usr=xs57 1924 2




2025 | TARAV RS VIV I<RTFIVLF>
3 H 2025/6/1

(45 A E&ZF> v 7L R] (45U L F XTI ]
Rank K % Fr B KA v MEEHK Rank K % Fr B RA v MEEHK
1142 & = J|fEEs ) —>» 363 1

(50U LELFY > 7L R] (50U ELZFLTILR]
Rank K % Fr B KA v MEEHK Rank K % Fr B RA v MEEEK
IV R 8 B\WLET=x077 18 1 1|# L BB ZE|TOY'S Tennis Lab 411 2
<s#> K |4 BF Z([TOY'S Tennis Lab 438 1 21 B & F|L.E.T 363 1
2l 2 &R EMAMAMTUE 363 1

(55U EZF> > LX) (55U EZF XTI R]
Rank K % B KA v MEEK Rank K % i) KA Y bEEEK
1{/NFE ZE{£ F|TOY'S Tennis Lab 297 4
2|EF X E #|FSA 269 2
2| & & #|FSA 269 2
ME B B F|lrvvvr=zs357 205 1
MEH AEF|70977=22057 205 1
6|8 # = F|EFRIT=2777 192 2
6|BR aIEI|s74vkr7=rs357 192 2
8l B = Flsryirrzzss7 143 1
9 ™)1 eganF[FSA 6 1
<sE> | B #f F[T0Y'S Tennis Lab 84 2
<> || EEF|574 k7722957 36 1

(60U LEZF> T ILR] (60U LELZF X7 ILR]
Rank K & Fr B RA v MEAERK Rank K % Fr B A v b EEH
1B & = FIMARS-T 432 3 IR & # FldLETC 617 2
1Y EEF|F—NLTF T F 617 2
3l & = FIMARS-T 261 3
4178 BE & #Blrrrrvar=zs57 254 2
5Kk & B Flsvvibrzzsss 143 1
6| BB BB Flz71vr77=2s357 36 1
TIEEH HCH[FHETC 15 1
V8 H ol FEET ) —~ 15 1




(65U EZxF v L R] (65U EXF X T ILR])

Rank| K % B Ay b HES Rank | K % Fr B A v~ HES
1 B B E|771vr77=2757 9 1 11 BB M SI|amEsRT = 2ims 220 1

1M B BB E|AWEDT=2ips 220 1
3tk 4 R ERK|FSA 6 1

[T0mULLF> v 7L R] [7T0m U ELF &7 ILR]

Rank| K % B A MERAEHK Rank | K % B A v b HEHK
KR D F|574> k75722057 3176 4 1A NI F|574v k7722057 1879 3
20Kk M R F|MA b vE 1746 5 2B K D Fls74v k75722057 438 1
3INIE S A TF|77akTr=2s57 1699 4 3[R M R F|A bR 328 1
4% £ M FILET=r777 1099 4

[7T5mULELF> > 7 ILR] [T5mU EZF &7 ILR]

Rank | K % B A v MEEH Rank | K #% B A v b EAEHK
12k B = F|s574vr757z22057 707 2




